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BSia (AN)
tEE (B)/(A) (%) 100.00% 100.00% 100.00%
Ba %A (N) 23 21 2
FEICRLIBEH(B) (AN) 23 21 2
1%?’2} (N)
. 25 (AN) 4 4
THE | 2emmmR = 0N 1 1
458 (AN) 18 16 2
Bia (AN)
tEE (B)/(A) (%) 100.00% 100.00% 100.00%
T HXRFY-EHUMFY
x5 [EBHREE ZEEH s  omm. mEORE: o -
(B%) | (Am) | (an) |FOMFRE
KEE 2.150 2.150 4.300 [6%%15% S5#h-4#k10% 3#K5%
Bl EE| 2100 2.200 4.300 [6#k15% 5#k-4%%10% 3#K5%
E0HIE[ 2200 2.200 4.400 5
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205 E%t| 2558 |35EHEG | RERE
X 2 nE |HDE| DFE FOMOMERES i
(A% | (A& | (A% | (A%
- EFERTREHEREESEE
T RE 24586875 | 33.2708 | 47.709 | 47.709 (2% ~45%HNE)
FIEDRIZISC-AELE
E D I - EFERTREHEREESEE
(i%ﬁaﬁ:) 24586875 | 33.2708 | 47.709 | 47.709 (2% ~45%HNE)
i FIEDRIZISC-AEELE

¥ BRBHEFY

X NEEA R
N d = B B —EEEE HESER
fREHREEIC 9 DL (%) 0.76% 0.74% 0.02%
TR RBE DR (%) 80.65% 77.42% 3.23%
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FHSEE ALALEGEUEBESHITEEE-BEX

AR EH SHM4E12A1BERE
EZFAEANA (FEEHE) SF3%E11H308RE
X % ARTIREH #H &5 E EBE B
A0 SHSEE SHAEE
. - - f - =Fizhed =Fizk e B
SHSEE | SHAEE | 8 OETY ADE AP N g N i %
JL,E%I] (=] a (=) a

Fﬁﬂi]’% A A A A FH FH FH FH FH FH
38.61% 0.23% 37.82% 0.05% 38.10% 38.10% 37.46%

ERFIE | 51,415 1 2 A 300 49,164 70 49,534 49,534 49,550 A 16
6.79% 0.23% 6.65% 0.11% 6.99% 6.99% 7.13%

8 » iR HT 9,044 2 2 0 300 8,648 140 9,088 9,088 9,078 10
23.23% 0.23% 22.75% 0.16% 23.15% 23.15% 22.90%

o A B | 30934 3 4 A 300 29,580 210 30,090 30,090 30,127 A 37
5.52% 0.23% 5.40% 0.05% 5.69% 5.69% 5.94%

®oOH Hr 7,346 1 1 0 300 7,024 70 7,394 7,394 7,387 7
9.54% 0.23% 9.34% 0.00% 9.57% 9.57% 9.58%

W H1 BT | 12700 0 0 0 300 12,144 0 12,444 12,444 12,431 13
9.07% 0.23% 8.88% 0.00% 9.11% 9.11% 9.21%

¥ B HET | 12074 0 0 0 300 11,546 0 11,846 11,846 11,833 13
7.25% 0.23% 7.10% 0.05% 7.39% 7.39% 7.79%

A H 9,657 1 1 0 300 9,234 70 9,604 9,604 9,594 10
100.00% 1.62% 97.95% 0.43% 100.00% 100.00% 100.00%

= 133,170 8 10 A2 2,100 127,340 560 130,000 130,000 130,000 0
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